PROBLEM:
Sinusoidal Signal x(t) = Acos(wo t+6)
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The above graph is a plot of a sinusoidal signal x(t) = A cos(wot + ¢).

(a) Determine numerical values for A, wg and ¢ with —7 < ¢ < 7.
(b) By a suitable choice of delay #;, we can shift x (¢) to obtain the new signal
y() = x(t —tg) = Acos(wot — 7w/2) (D)

There are an infinite number of values of #; that satisfy Equation (1). Determine at least two different
values of ¢, that satisfy Equation (1), or give a general formula for all the possible values.



